Year 4 Mathematics Homework - Place Value

QUEStiOI"lS 2 Complete the number sentence using non-standard partitioning.
7,238=7000+100+....+8
L =,
[0, a D 130
Tick your answer to each question, like in the example below. You can use any b D 100
space left below or around a question for your working out, if you need it.
Example Question = E] 30
1,435+ 2,870 = d [J =30
a [] 3205
b 4,305 3 Which number sentence shows 592 partitioned?
¢ [J 3295
a D 5+9+2
d [J sa110
b [J 5+90+200
_ ) ¢ [J s00+9+2
1 Which number is represented by the Base 107
5 7 o d [J s00+90+2

6  Which number is represented by the Gattegno chart?
1,000 \' 2000 | 3000 | apoo | so00 | 6000 | 7000 | Booo | 9.000
\ 100 200 300 | 400 | 500 600 700 800 300
s 10 20 30 40 50 60 70 80 90
1 2 3 4 5 ) [ 7 8 9
a [_J 20004005
How many buttons are there? b D 245
c [ 24s0
a (s
b D 500 d D 2,405
¢ [J so00
d D 4000 7 Which number is the arrow pointing to on the number line?
i
T T T (I T T (I l
5 Round 253 to the nearest 10. 0 1,000

0000

263 a [J 300
260 b (J 30

240 d [ 400




8 Round 251 to the nearest 100.

a [] 300
b (J 100
c [ 3
d [ 200

9  Whatis 1,000 less than 5,4997

a [] 6499
b [J 5390
¢ [ 449
d [ sa4e9

10 Whatis 10 more than 2,4987

14 Estimate the number the arrow is pointing to on the number line.

6,000

400

5,000

4,000

0000,

15 Which symbol is missing?

472 ... 300
a (>
b [ <
c (3 -
d [J =

16 Four ribbons were cut and measured.
Put the ribbon lengths in ascending order:
924mm, 4,920mm, 2,049mm, 4,209mm

a D 924mm, 4,920mm, 2,049mm, 4,209mm
b D 4.920mm, 4,209mm, 2,049mm, 924mm
¢ [J 2049mm, 4,209mm, 4,920mm, 924mm

d D 924mm, 2,049mm, 4,209mm, 4,920mm

10,000

11 Whatis 64 in Roman numerals?

a (] v
b [J wam
c [ xxooxv
d [ wav

12  Which number is the arrow pointing to on the number line?

10000
a (J 2000
b [J 400
¢ [J 4000
d [ s000

13 Which number sentence correctly partitions 7,0507

a [J 700+50
b [J 7.000+s50
¢ [] 70+50

d [J 7.000+5

17 6,000 balls (rounded to the nearest 1,000) were used in a tennis tournament.
What was the maximum number of balls that could have been used during
the tournament?

a [J s000

b [J 649
¢ [J 7000
d [ ss00

18 Complete the number sentence using non-standard partitioning.
4,621 =2,000+...

19 Which is the greatest number?

a [J xwoax
b [ x
c Jc
d [J xxxvm



